SAP ABAP table ACE PS TS DIFF {Acrrual-Engine: Structure for Showing Differences}
ACEPSOH
MANDT [CLNT (3)]
COMP [CHAR (4)]

ACE PS TS DIFF-OBJID = ACEPSOH-COMP ~_ _-1..N |BUKRS [CHAR (4)]
-7 OBJID [RAW (16)]
-7 SUBID [NUMC (5)]

-7 TACC_PRINCIPLE

-~ ACE_PS TS DIFF-ACCRULE = TACC_PRINCIPLE-ACC PRINCIPLE 0N MANDT [CLNT (3)]

___________________________ """ | ACC_PRINCIPLE [CHAR (4)]

R TACECOMP

0=N ACE PS TS DIFF-ACRTYPE = TACE ACRTYPE-ACRTYPE 0..N [MANDT [CLNT (3)]
o= COMP [CHAR (4)]

ST TACE_ACRTYPE
ST T - __ MANDT [CLNT (3)]
COMP [CHAR (4)]
ACRTYPE [CHAR (6)]




